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NEW QUESTION 1
Winch two primary categories are displayed on the overall health page of the assurance component in the Cisco DNA Center? (Choose two.)

A. Wired
B. Client
C. Access-Distribution
D. Server
E. Network
F. Core

Answer: BE

NEW QUESTION 2
Which Cisco products were incorporated into Cisco ISE between ISE releases 20 and 2.3?

A. Cisco ASA
B. Cisco ESA
C. Cisco ACS
D. Cisco WSA

Answer: C

NEW QUESTION 3
Which two activities should occur during an SE's demo process? (Choose two.)

A. determining whether the customer would like to drive deeper during a follow up
B. asking the customer to provide network drawings or white board the environment for you
C. identifying which capabilities require demonstration
D. leveraging a company such as Complete Communications to build a financial case.
E. highlighting opportunities that although not currently within scope would result in lower operational costs and complexity

Answer: CE

NEW QUESTION 4
Which are two Cisco recommendations that demonstrates SDA? (Choose two.)

A. Use the CLI to perform as much of the configuration as possible
B. Show lite customer how to integrate ISL into DMA Center at the end of the demo
C. Focus on business benefits
D. Keep the demo at a high level
E. Be sure you explain the major technologies such as VXLAN and LISP in depth

Answer: CD

NEW QUESTION 5
Which option will help build your customers platform during the discovery phase?

A. business case
B. detailed design
C. POV report
D. high-level design
E. PO

Answer: A

NEW QUESTION 6
What are the three foundational elements required for the new operational paradigm'? (Choose three.)

A. centralization
B. assurance
C. application QoS
D. multiple technologies at multiple OSI layers
E. policy based automated provisioning of network of
F. fabric

Answer: BEF

NEW QUESTION 7
Which Cisco vEdge route offers 20 Gb of encrypted throughput?

A. Cisco vEdge 5000
B. Cisco vEdge 1000
C. Cisco vEdge 2000
D. Cisco vEdge 100
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Answer: A

NEW QUESTION 8
What are three ways in Which Cisco ISE learns information about devices? (Choose three,)

A. user authentication to the ISE
B. SMIP agents
C. RPC mechanism via HTTPS
D. traffic generated by the device
E. network servers the device has accessed
F. RADIUS attributes

Answer: DEF

NEW QUESTION 10
......
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